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BblunTaHmne AecaTyHbIX 3HaKoB (4 Ludpbl)

Nwvs:

5.8607
—-5.6747

5.4074
-4.939

8.4126
—-6.5475

6.4438
-4.1364

9.631
—-6.6027

5.8616
—3.4988

7.9665
—-2.8398

1.998
—-3.1442

1.526
—-8.1221

6.7184
—3.8852

4.2549
-5.9781

0.2325
—8.7905

1.8161
—-4.7202

3.5514
—-6.6784

7.5979
—-2.9773
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2.426
—8.6405

2.6333
—-5.3708

5.1479
—-6.8918

0.6355
—7.6833

5.1853
—3.3543

[aTta:

OueHka:

2.4097
—7.2628

1.3635
—-5.5782

9.1984
-2.359

4.0738
—7.8636

9.646
—9.8036
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BblunTaHme AecaTuYHbIX 3HaKOB (4 un1dpsbl)

ZIVER

5.8607
—-5.6747
0, 186

5.4074
-4.939
0, 4684

8.4126
—6.5475
1, 8651

6.4438
-4.1364
2,3074

9.631
—6.6027
3, 0283

5.8616
—3.4988
2,3628

7.9665
—-2.8398
5, 1267

1.998
—3.1442
-1, 1462

1.526
—-8.1221
-6, 5961

6.7184
—3.8852
2,8332
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[JaTa: OueHka:

4.2549

—5.9781
-1,7232

0.2325
—8.7905
-8, 558

1.8161
—-4.7202
—2,9041

3.5514
—6.6/84
-3,127

7.5979
-2.9773
4, 6206

2.426
—8.6405
-6, 2145

2.6333
—-5.3708
-2,7375

5.1479
-6.8918
-1,7439

0.6355
—/.6833
—7,0478

5.1853
—3.3543
1,831

2.4097
—/.2628
-4, 8531

1.3635
—-5.5782
-4,2147

9.1984
—-2.359
6, 8394

4.0738
—/.8636
-3, 7898

9.646
—9.8036
-0, 1576
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